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” . In a laboratory experiment, there are initially 12 insects. We notice that the number of
insects doubles every 3 days,

a) What is the rule which gives the resulting number y of insects as a function of the
number t of days since the beginning of the experiment?

b) After how many days will there be at least 6144 insects?

. \nt
L) la The formula c(r)= co[l +ni] gives the accumulated capital after ¢ years of an initial
capital ¢, invested at an annual interest rate i compounded n times per year.

a) A capital of $2500 is invested at an annual interest rate of 6% compounded monthly.
What will the accumulated capital be after 5 years?

b) How long will it take for a capital invested at an annual interest rate of 8%
compounded twice per year to double its value? - -

T SREEEm—
3) Ja The population of a village decreased by approximately 2% per year since 1990. In the
year 2000, the village had a population of 2500.

a) What was the population of this village in
1. 1995? 2. 20077

b) If the rate of decay is maintained, in what year will the population of this village be ’
equal to half the population recorded in the year 2000? E ¥




